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HpaﬁMopa,m/I‘{Haﬁ CHUCTEMa CYHUCJICHUA
TIloceunka nmo 3amade 1 «IIpailimopagudHasi cucreMa CUMCIJICHUS »

def to_int(string):
a = string.split(’:’)[::-1]
res = 0
for i in range(len(a)):
res += arr[i] = int(al[i])
return res

n = int(input())
max_ = -1
res = []
for k in range(n):

q = to_int(input())

if q == O:

if max_ is None:
res.append((q, k))

else:
res = [(q, k)]
max_ = None
if max_ is None:
continue
if max_ == -
max_ = 0

res = [(q, k)]
elif q % arr[max_] == 0:
if q > res[-1][0]:
res = [(q, k)]
elif q == res[-1][0]:
res.append((q, k))
for i in range(max_ + 1, 65):
if q % arr[i] == O:
max_ = i

res = [(q, k)]

for i in res:
print(i[1] + 1)

HpOTOKOJ’I HpOBepS{IOIlleI‘;I CHUCTEMBI IIO 3aJa4e 1 «HpaﬁMopa,u,anaS{ cucTreMa CUYHuCJIEHUu:d»

0K
28 total tests runs, 28 passed, O failed.
Score gained: 100 (out of 100).



IToceinka nmo 3amade 2 «CyHOayku»

d=A
a’: 1,
’b’: 5,
’c’: 10,
’d’: 50,
’e’: 100,

’f2: 2 % 100,
’g?: 5 * 100,
’h’: 10 * 100,
’i’2: 25 *x 100,
A’: 5 % 100,
’B’: 10 * 100,
’C’: 50 * 100,
’D’: 100 * 100,
E’: 200 * 100,
’F’: 500 * 100,
’G?: 1000 * 100,
H?: 2000 * 100,
’I’: 5000 * 100,

def to_int(string):
res = 0
for i in string:
res += d[i]
return res

n = int(input())

min_ = None
max_ = None
mins = []
maxs = []

for i in range(n):
q = to_int(input())
if min_ is None or q < min_:

min_ = q
mins = [i]
elif q == min_:

mins.append (i)
if max_ is None or q > max_:
max_ = q



maxs = [i]
elif q == max_:
maxs.append (i)

if abs(mins[0] - maxs[-1]) > abs(mins[-1] - maxs[0]):
if mins[0] < maxs[-1]:
print (mins[0] + 1)
print (maxs[-1] + 1)
else:
print (maxs[-1] + 1)
print (mins[0] + 1)
else:
if mins[-1] < maxs[0]:
print (mins[-1] + 1)
print (maxs[0] + 1)
else:
print (maxs[0] + 1)
print (mins[-1] + 1)

ITpoTokos mpoBepssoleii cucreMbl o 3azade 2 «CyHOyKu»

0K
28 total tests runs, 28 passed, 0 failed.
Score gained: 100 (out of 100).

IToceinka mo 3amave 3 «Kyouk»

from queue import Queue

nw = [0, 14, 6, 8] # fron, back, v, h
ne = [1, 15, 7, 10]
sw = [2, 12, 4, 9]
se = [3, 13, 5, 11]

def get_(state, idxs):
return [state[idxs[0]], state[idxs[1]], state[idxs[2]], state[idxs[3]]]
def set_(state, idxs, vals):
state[idxs[0]], state[idxs[1]], state[idxs[2]], state[idxs[3]] = vals[0], vals[1], vals[2], vals[3]

def replace(state, idxsl, idxs2):
state[idxs1[0]], state[idxs2[0]], state[idxs1[1]], state[idxs2[1]] = state[idxs2[1]], statel[idxs1[1]], state[idxs2[0]], state[idxs1[0]]
state[idxs1[2]], state[idxs2[2]] = state[idxs2[2]], state[idxs1[2]]
state[idxs1[3]], state[idxs2[3]] = state[idxs2[3]], statel[idxs1[3]]

def rotate(state):



a, b, ¢, d = get_(state, nw), get_(state, ne), get_(state, sw), get_(state, se)
for x in [a, b, c, d]:
x[2], x[3] = x[3], x[2]
set_(state, nw, c)
set_(state, ne, a)
set_(state, sw, d)
set_(state, se, b)

start_state = list(input())
q = Queue()
q.put((start_state, ’7’))

while True:
state, way = q.get()

if ?’.join(state) == ’1111223344556666 :
print (way)
break

new_state = state.copy()
rotate(new_state)
q.put ((new_state, way + ’F’))

new_state = state.copy()
replace(new_state, nw, ne)
q.put ((new_state, way + ’U’))

new_state = state.copy()
replace(new_state, sw, se)
q.put ((new_state, way + ’D’))

new_state = state.copy()
replace(new_state, ne, se)
q.put ((new_state, way + ’R’))

new_state = state.copy()
replace(new_state, nw, sw)
q.put ((new_state, way + ’L’))

IIporokos nmpoBepsifoneil cucreMsl 1o 3agade 3 «Kybuk»

0K
50 total tests rumns, 50 passed, O failed.
Score gained: 100 (out of 100).

ITochbuika 1o 3aja4ve 4 «Codemirror»



import sys
_ = input ()

text = ??

i=0

start_select = None
end_select = None
last_select = False
buf = None

def has_selection():
return start_select is not None

def unselect():
global start_select, end_select
start_select = None
end_select = None

def insert(data):
global text, i
if not has_selection():
if i == len(text):
text = text[:i] + data
else:
text = text[:i] + data + text[i:]
i += len(data)
else:
if end_select == len(text):
text = text[:start_selected] + data
else:
text = text[:start_select] + data + text[end_select:]
i = start_select + len(data)
unselect ()

def delete():
global text, i
if not has_selection():
if i !'= O:
if i == len(text):
text = text[:i - 1]



else:
text = text[:i - 1] + text[i:]

i-=1
else:
if end_select == len(text):
text = text[:start_select]
else:

text = text[:start_select] + text[end_select:]
i = start_select
unselect ()

res = [’’]

for ¢ in input():

if has_selection() and start_select == end_select:
unselect ()
last_select = False

if ¢ not in [’{’, ’}’] and last_select:
last_select = False
if end_select < start_select:

start_select, end_select = end_select, start_select

if ord(c) >= ord(’a’) and ord(c) <= ord(’z’):
insert(c)
elif ¢ == ’V’:
if buf is not None:
insert (buf)

elif ¢ == ’C’:
if not has_selection():

buf = None
else:
buf = text[start_select:end_select]
elif ¢ == ’D’:
delete()

elif ¢ == ’X’:
if not has_selection():
pass
else:
buf = text[start_select:end_select]
delete()



elif c == <
if has_selection():
unselect ()
if i > O:
i-=1
elif c == 2>
if has_selection():
unselect ()
if 1 < len(text):
i+=1

elif ¢ == ’{?:
if not last_select:
last_select = True
start_select = i
if i > 0:
i-=1
end_select = 1
elif ¢ == ’}7:
if not last_select:
last_select = True
start_select = i
if i < len(text):
i+=1
end_select = i

res.append(text)

for _ in range(int(input())):
q = int(input())
print(res[ql)
sys.stdout.flush()

ITIporokos npoBepsitoineii cucreMsl no 3anade 4 «Codemirror»
cM. daiin reportd.txt

IToceuioK 1o 3amave 5 «Bubaunoreka» He OBLIO.



